7000
2820 1360 2820
1560 13560 1360 1360 1560

® ® ® ® ® ®
® ® ® ® ® @
ﬁ
#! steel beam IPE360 ;
— 0,480 soffit at 0,380~ 0,480——
Elevation s
7000
400 6200 400
1 1 1
Plan without decking, parapet rails and parapet infills s
- u u |
— 1 [ 1 ] I [ 1 I I [l —
© (o] (0] (o] (¢] (o I s s 5 2 _
M O (o) (o] — [e) [e) o o o o o
o] | o]
- |
3 ® ® 190
|
0 _ , p4 45 100 _ 45
, —GLstrip (anti—slip)
5 |
L S 7NN >
o : 5 S , i , 0
3 [ ! 9 E Ll n
[ I I ,
m 5 g . [P screw 28x100
o £ - Voo V' $s304
5 | . < Detail deck 1=
| % N
) M
- |
f9) e
| 2
| @
& [ ! m
|
3 © | © Safety, Health and environmental information
N L | . 1] In addition to the hazards/risk normally associated with the types of wor
< D _ o _ Y _ w_|_ ML — _ detailed on the drawing, please note the following: =
Construction
m m m | . —No risks during construction have been identified that could not reasonably
Plan on main beams OD_V\ 1:25 have been foreseen by a competent contractor.
(it is assumed that all works will be carried out by a competent Contractor
0145 working, where appropriate, to an agreed method statement)
Residual Risks:
o P None
screw 8x70 $SS304 ox ——ff == | =<4
5 Class: Pedestrians
/] 40x90 - Load: 5 KN/m2 and vehicles up to 5 tons
A M R L Wy Vehicle with 2 axles spaced at 3,0m
=== sCcrew goXx =
T A v Front and rear axle 25kN
coach bolt M10x140 — =& A=K A= : : .
A1 N Maximum wheel load 12,5kN acting on a square surface of sides 250mm
F = ==——screw 26x90 SS304 Ko 4 — .
o senen Sesne B - ;R - Wheel distance 1,75m
Provisions are to be made to limit access of vehicles weighing over 5 tons
3500
bost 95x145 Timber: Ekki FSC 100% NC-COC-005535 AV
Steelparts: S235 galvanised, unless mentioned otherwise
40x40x990 long . Fixings: Grade 8.8, unless mentioned otherwise
(@]
~
o = Sizes in mm, unless mentioned otherwise
. o = Levels are in metres
Section .10 =
L0
~
P a in Hw Nr. Date issue Design Drawn Checked Description revision/addition
ﬂu\NHHHH ER e Principal: Date approval:
K 55x145 bolted to top flange deck boards 55x190 ] = South East Rivers Trust
of IPE270 with M12x80 coach bolts 3480 long steel mainbeam IPE360 o Date issue:
20w Leatherhead, Surrey 24-06-2022
HM |WW&KW& : : : : : : : : : W|HU Name structure: Design:
all screws fascia boards 26x90 SS304 + - \%: \_ U Iyl coach screw % MMH\W 23 . .
| ot ﬂ 012x60 . e oo Eave=: I Emm Brook mmmﬁoqm\:o:.. Fish _”.vmmmm@m Improvements —
threaded rod M16x380 ﬂHHHHHNHH C2AP Ak ©o| bolt M12x45 (2x) b GF =3 HMNH‘HWWMHW“ <<OOm®—.=__. <<O_A_3©—._m3 KW
spacer 136x140x320 ] > HHV M o
ﬁ m.ngmg MOxMNDMM.@m < b coach screw ¢12x60 HE120A U%%m gmxgmio i = 150 o m X Part structure: Checked:
ascig boards ic plate 10x250x250 — = - . . . .
threaded rod M16x380 ﬂHHHHH\WHUHH_m@ 4l bolt M12x45 (2x) — 4| ﬁMHuﬂHmWHHHHHW‘m‘ Installation of two U:Qmmm. W_._Qmm B: Northern m_._QOQ. p—
1f 15 U N\ Y . . )
: =R - i e General Arrangement with details as shown@A1
bearing timber 80x150x3480 C bolt M16x45 C ma%m Sxmoo ém,mmg to — -
ottom of main beam - .
SARUM HARDWOOD STRUCTURES LTD ravingnt. -pa
inc. MAT & TIMBER SERVICES E5741-20190234 -01
490 2500 490 Unit 1b, Chilbolton Down Farm
| | anchor bolts M16 STOCKBRIDGE, Hampshire. S020 6BU 221325
| elastomeric pad 10x200x200 | elastomeric pad 10x200x200 m:m Tel: 01264 811600 + Fax: 01264 810600 FSC p—
3255 @ maim beams info@sarumhardwood.co.uk FSC® C007915 eet
4a80 www.sarumhardwood.co.uk i bl
k sﬁﬂﬁa PREFAZO® Type 2s

"This document contains information proprietary to GROOT LEMMER B.V. Any disclosure or use of the proprietary information or
reproduction of this document is expressly prohibited except as GROOT LEMMER B.V. may otherwise agree in writing"




This page is intentionally left blank



	8. Application No.203617 - Riverside Park, Woosehill, Wokingham
	E5741-20190234-221325-01 drawing Northern Bridge B, Woosehill, Wokingham (24-06-2022)  Enc. 15 for 203617


